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PHILOSOPHY
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[Logical Rules and Fallacies (Western)]
Full Marks : 20 Time : 1 Hour

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: I1x5=5
@~ #Hofo dess Tex wie ¢
a)  What is subset? Give example.
THATHA FICE 2 B S |

b) Translate the following into set theoretic

notation:
feca a6 frfsice Tre s
Men are numerous.
R 2 PR |
c)  What is proper subset? Give example.
T2 AT FICF A 2 GBI 7S |

[Turn Over]

d)

g)

h)
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Symbolize the following sentence according

to Jeffrey:

(SIS SRR (R e ITbE Ao 0t
we:

Both Crumm and Moriarty are guilty, if

either is pronounce guilty.

Tt qE GFGIe @I AT 2, OIZCH FN
@R TfFif Tenz iRt |

Use truth tree method to determine whether

the following set is consistent or not:

TepiEl Amle 2ol e T @ e
TG FA o)l el

~(A—B),-AVB

Is the following true?

S e g\

fsferiare fagfelt f ooy 2

If A#B, and B#C then A#C
Is the following statement true?
fersnel fgfefb 5 o1y 2
{1,{13.,2,{2}} c {{1},{2}.3}

Give the symbolic expression of the
difference between two sets.

vt (T3 Rtew ARF TSI 2/ I |
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2. Answer any one question: 5x1=5

@~ aF6 A TEF 7S ¢

a)

b)
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Letting : A = the set of all positive integers

B={3,5}
C=12,4)
D={l,2)

find the following :
AU(BNC)
(A~B)n(C~D)
1 A - A = < LI FRAT N
B={3,5}
C=1{2,4}
D= {1,2}
fmferfesf fda w9 ¢
AU(BNC)
(A~B)n(C~D)

Determine by truth tree method whether the
following are tautology :

AR Amfed qidl o st Tl qret@
ToeTey el ¢

i) (A-B)>[(CvA)—>(CvB)]

[3] [Turn Over]

ii) (A< B)>(-B—>-A)

Use the truth tree method to test whether the
following sentences are consistent:

oA oimfed Tl fofa st Asfefie amefe
ﬂ?ﬂ%"i‘f el

A< BA(A&B)v(-A&B)

Answer any one question: 10x1=10

@~ QF6 AT TEF 7S ¢

a)
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Use the truth tree method to test the validity

of the following arguments (any two) :
5x2=10

TomIRl Aafed 7l fFfarfe fewfs @ael e
FE (@ @I gio) ¢

1) AeB
—(A&B)
~—A&-B

i1) A<B
AvB
~A&B

111) We shall catch fish if it rains and swim
if it does not. Therefore, we shall catch
fish or swim.
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b)
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T I =7 o wEl S $@E @R qw
FERIEREO G ISR RO R RGN
SINE! g L& SR HoiF FOE! |

Find the following :
frsferiioafe ek s ¢

{ntninl

{/\,{/\}} ~ AN
{adnt~{{al)
1202}~ {{2h.1}
{ihf2h2p~{{1}.2}

)

ii)

How do you test the consistency between
different sentences by the truth tree
method?

oAl Aafed w9l [Kfey A Al
el iy a2

Use the truth tree method to test whether
the following pair of sentences is
equivalent:

ToAT oo mial T st fafis
MG AL el

A—(B—C),A—(-C—-B)
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